ol R A

B BE— R FREA Bif20km LAV R IS IR 45 R
TRE2343A30H 16 M0 ES
x #M ® %
OXMHFAKENER ) & #% ZRiBH0

*1 GM(FZE-KITHE) NEE

x2 BEENEE

* 3 Nal (B{L M) IN KRR 2B

* 4 10N = AN EENE TR
= BAE S A Y = R = RS ;ﬁl’@ (ﬁ&ﬁ%/d\ﬁrj‘) f= Ioad

1 i E 7 ) N L y

HAT (BEBE 1R A MESR) plE=d =) (0B A B 2 AL Sz SEE
MER [1]  (FAEHI60Km) 3H30H8=53% 20 X TR BARRFRETARFF L AL
MER [2] (FEALKIS5Km) 3A30H9=23% 40* Z TR BARRFRERARFF A AL
MER [3] (FEALHI45Km) 3A30H9=50% 46* Z TR BARRFRETARFF A AL
MER (6]  (dL#I45Km) 3A30810&21% 1.0* BT BARREFREARFF R
MER [10]  (FEILFI40Km) 3A30R10H7H 0.8 *2 BT SCEFE
MER (1] (FILFI40K) 3A30810&22% 1.1 %2 BT SCERR
MER (121  (FHI40Km) 3A308 115445 0.2 *2 BT SCEF S
MEA [18] (FE#I40Km) 3A30H1243% 0.4* EBEEH
MEA [14]  (FE#35Km) 3A30R125115 0.1*% BHEEE
MER [15]  (FEHI35Km) 38308 12/525% 09* BEPEE
MER [20] (FEILFI45Km) 3A30810549% 0.7 *2 BT SCEFR S
ME S [21) (FEifmAEFH0Km)| 3A30B11A16% 4.6 BT SCEF




*1 GM(ZE-KR#IHHE)NE2E

*x2 BEENEE

* 3 Nal (BE5H) NIRAN E1E
* 4 7E N E T8 RN E BRI B 5E

57 (BB T 1 4 R ) MR A ) iR S:i5
MEA [22] (FEIFEEH0KM)|  3H30B1146% 0.7* ETEW XEEIEE
ME A [23] (FEIFEEFH0KM)| 3H30EH10558% 0.8 *2 ETEW XEEIEE
MEA [71]  (F#125Km) 3308855004 25*% =52 (NBCRAIF S
MEA [72]  (F#30Km) 3F 30085245 1.0% =52 (NBCRAIF S
MEA [73]  (F#935Km) 3F30H85847% 07% =52 (NBCRAIF S
MES [74]  (F#935Km) 3H30H9/&821% 05* =52 (NBCRAIF S
MES [75]  (FI#945Km) 3F3087/503% 02* =52 (NBCRAIF S
Mg [76] (FEEIFI25Km) | 38308125264 02* =52 (NBCRAIF S
MEA [77] (FEEEF25Km) | 383081245485 22% =52 (NBCRAIF S
Mg [78) (FEib#45Kkm) | 3H30H8500% 167 E % (NBCRA{FH
MEA [79] (FEik#30km) | 3H30H9505% 16.7 % =52 (NBCRAIF S
Mg R [80] (dE#925Km) 3H30811533% 0.6 ** E 5 (NBCRHF H
MEA [80]  (dk#925Km) gﬂ%ﬁ—ﬁ %141 293 0.0~1.3"2 B2TH BERTFEREHAF LN
ME A [81) (FiLEFE#KI0Km)| 3H30H8L48%) 322% =52 (NBCRAIF S
Mg [83) (FEi#F20km) | 3H30H9518% 59.3 ** E % (NBCRA{FH
ME R [85] (FEIL#960km) 3A30H 142005 0% Nk
M= R [85] (FEAL#I60km) 3H 3086005 0.4* BTH P&
MER [86]  (FHHI55km) 3H308 1453005 08* BhD&




*1 GM(FEE-X#PHHE)NEE
*x2 BEENEE

* 3 Nal (BE5H) NIRAN E1E

* 4 7E N E T8 RN E BRI B 5E

a BT IS A > =1y NTE=A kS ;ﬁf@ (1&@%/4\&3#) = N

1 i ~ 7 v s —_— e B e N

HRT (BB E 1 LRI ) & i) (0B A B 2 240 Sz LiEE
MES [86]  (FEHI55km) 3H30H6500% 1.3 % RTH D&
ME S [87) (FEEEFAF30km)| 3H30H 145005 1.2% ik
M2 m [87) (FEIRIEFI30km) 3H30H6500% 1.3 % RTH D&




[78])

1.6

|
LEZT

(1]

_l.',_

[86]
0.8
1.3

H

[22]

==

125

(2]
4.0

/

0.9

F—IRFReR B FEiAEN

(3]
46

(5]
mEm 0

PEES

[80]

VESSiLE]
3H30H
60097 ~158200%

ONER

[81])
32.2

[87])
1.2

1.3

[74]
05

MBS IR T REAOR )

. ®
o—
[71]
: | 25
[77] (731 | | (72)
g}\\\\\\\fz 0.7 10
REpl=

[75]
0.2

1.? 22011 Gﬁu,_gje‘ ‘jﬂﬂf—'ﬁ

[79]
16.7

AR Gtk Y )




KHEEEESES

ISR
(B 35>
S PR
, ———| 250,000
[250, 000F4 714 %5/ ]
100, 000
50, 000
[10, 000K PG F6/4E ] iak. e promime —* 10,000
" [
@ » |
[ 2, 4007475 36 /4F ] K (11540 39 %ﬁﬁ%o.zg"’,‘%i’b"% —F
’ P /7 atsers
AN | A RS (14 1. 000
KEBEO0. 48 K AALUh ’
OB S Rl )l
: &
[ AR R L 7 (14
5 BP9
[ 4007475 /4% ]
AR — AL CHLIRAT (FEIE)
CHF B HEE R - g
[ 2007476 /i8] M

y HEDAE BT A ) TR
(22657 26/ 4F ] W
B Al et

(L4

X Sv [P =R P A 1 BN H A (%)
SCHRRREE B IR SR AEURTT 5120027 A

«—

PE: ACHORME HER VORI T 5 SO PRI

NI B AR SR VR L R

[ 100, 0005k 75 3 /4E ]

Summ— NS YNAPY YIS 1P ITE 3 = NI

UIPNP WA

[ 50, 00047 35 /4F ]

JESXOGTVH HNLBT R (CTHSRD (10

(== [6, 900847538/ ]

—meapdmarmE B )
s T |

X Gy [#H]

LA
@ [1, 000447 35/4F ]
SN, OCKIERR (170

| (6001475 75/IX ]

= ,@ [ 509478 7/ 1K ]

MO AR R (120

[ 505474 #/4F ]

JRReR Rl CRRK S misfE) JHIA T
SR HAME (15
(St RIR AR T2 A HARMED

| )
= | Bl =
‘fl‘i%,

X OXHHd. viHEN 1



